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Lo frabc z AT atbtc-3=0r L4 1 Lo, 40

az-2,b#5c#-9 #R/(@+2)2+(Bb-52+(c+9)?% 2% (44)

[$+f@%])]: Ans:9
£ x=a+2, y=b-52z=c+9

S8 x+y+z=9 F 14-41=90
x y z

= xy+yz+zx=0
LV

V(@a+2)2+ (b—5)2+ (c+9)?
=/x% + y% + 72
=J(x+y+2)?-2(xy+ yz+ zx)
=9

2x+2y+xy =18
2. CarX,y, z Rt &P RE 2y +22z+yz=20" @#FERx+y+z+xyz 20 o

2x+2z+xz=129

(4 #)

[4%#2%] Ans: 375
#-2x+2y+xy=18 v I P4 4 #
22=2x+2y+xy+4=(x+2)(y+2)>
FPRFR24=2y4+2z+yz+4=(y+2)(z+2)-



B7® 33=2z2+2x+xz+4=(x+2)(z+2) Bl(x+2)2="2; 512 x £z

’

4
o HU(X+2) = x=20(y+2) =4 y=2°(z+2)=6r2=4"

arrix+y+z+xyz=37.5

3. AABC¥ > AB=AC > * D-E~F=%A%aBC -CA- AB=#} » ##

DE// AB c4r% ABDF 2 3 # % 9 AAFE2Z & # % 15> ADCE 2 & # %
32 %% ADEF # AABC & ff2 ' i& o (42)

[$472%] Ans: % °

% DEF & # 5 X -

-+ AB// DE .. AB:DE = ABFD + AAFE : ADFE =(9+15) : x=24: X
* ABDE=AFDE = ABDE : ADEC = BD: DC =(24-X):X
=X:32=(24-X):x=>x*+32x-768=0 = x =16

Flp ADEF Z2AABC h fft E=—=— o
T & ff B =79

4. AMBC*¥ » /ABC=75,/BCA=45 > 4r% P % BC I :rBLi¢#® BP=2PC >
BF APB R ¥k o (4%)

[4%#2%]): Ans: 60° o

% BC=a,AC=h AB=c,f|* 235 %™ » AABC*® >

a C C 2
- == s> ===
sin60  sin45 a 3
BP=2q -BP_223_2_C . \BpPA-ABAC
3 c 3 cC 3 a

% /APB=/BAC =60

5. ¢ 4ra,bivi el BED=3aF abiod fpk e BE(FARILA)
R LERE R LIl ha o (F kT 93 5F) (54)
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1008-3=3024, 1017-3=3051, 1026-3=3078, 1035-3=3105
#rrl > N =3105 M =1035 -



